Effect of Cereal Gruel Supernatant on Physical-chemical and Geotechnical Properties of Greywater contaminated Soils

Saheed Adekunle Ganiyu*, Oluwaseun Tolutope Olurin, Michael Olugbenga Olobadola Department of Physics, Federal University of Agriculture, Abeokuta, Ogun State, Nigeria

Abstract

Greywater comes in contact with natural topsoils of some houses within rural and peri-urban settings, leading to changes in their inherent features. This micro study assessed the impact of Cereal Gruel Supernatant (CGS) amendment on selected physical, chemical, and geo-environmental characteristics of greywater contaminated Soils (GCSs). The GCSs and Control Soils (CS) were collected from two different sample sites in Basement Complex environment at depths 50, 100, and 150 cm from the surface. The test comprised of four sets: CS without greywater, GCS, CS with 50 ml of CGS, and GCS with 50 ml of CGS. The results revealed that the modification of most tested properties on GCSs hinged on sample depth whereas impact of CGS amendment on properties of GCS was location dependent. There is no significant effect of CGS on both maximum dry density and moisture content of contaminated soils at the two locations. Analysis of variance (ANOVA) showed that according to sampling depths criterion, there are significant differences at 5% level for most analyzed soil properties except shear strength, organic matter and soil resistivity whereas no substantial difference at 5% level occurred with respect to soil amendment with CGS. More analysis is required to study the variations of soil parameters with specimen depths by various cereal based starchy fermented gruel on GCS at varying volumes.

Keywords: Basement Complex, Greywater, Physical-chemical, Geotechnical, Cereal gruel supernatant

Introduction

Wastewaters are usually produced as end products of certain regular humanoid activities. The volume of wastewater produced by a society as a result of anthropogenic activities depends to some extent on the standard of living, domestic water consumption, pattern of development in a geographical setting, and cultural beliefs of the residents of a particular society (Baharvand and Mansouri Daneshvar, 2019; Schilling and Tr nckner, 2020; Ganiyu et al., 2020). According to Greywatersafer.com (2004) and Ghrair et al. (2018), Greywater is defined as wastewater that is generated as water outflows from the bathrooms, kitchens, and laundry without the wastewater from toilets. The issue of management of greywater for alternative uses has not been given proper attention by environmentalists in developing countries of African continent, where improper disposal of wastewater is more rampant (Morel, 2005). The reuse of greywater attempts to preserve the nearby freshwater source thereby reducing the impact of environmental pollution of shallow

aquifers (Al-Hamaeideh and Bino, 2010). Though, the use of greywater for agricultural purposes is well reported (Travis *et al.*, 2008; Al-Hamaiedeh and Bino, 2010; Anwar, 2011; Mohamed *et al.*, 2018) there is insufficient information/data on the geotechnical and physical-chemical characteristics of greywater contaminated soils. Ganiyu *et al.*, 2020 previously studied the impacts of greywater on soil properties.

Surfactants, (being major components of detergents and bathing soaps used in laundry and bathtubs) are compounds (deliquescent and hydrophobic) that have potentials of altering physical-chemical and geoenvironmental characteristics of near surface soil (Mohamed *et al.*, 2018; Ganiyu *et al.*, 2020). For instance, Mohamed *et al.* (2018) investigated the alterations in soil characteristics after the irrigation process with laundry wastewater. Calabar and Karabash (2015) evaluated the changes in California bearing ratio of sub-base material modified with tire buffings and cement addition. Several researchers have also investigated the use of treated wastewater as mixing water for concrete production



(Cebeci and Saatci, 1989; Shekarachi et al., 2012; Kucche et al., 2015)) while Ghrair et al., (2018) evaluated the potential of reused greywater (treated and raw greywaters) in concrete and mortar. However, nonionic surfactants have also been reported to promote the solubilization of heavy metals while the anionic and cationic surfactants hindered the removal of dissolved heavy metals (Kosobucki et al., 2008; Ren et al., 2014). Surfactants are reported to be useful in bio-acidification process as they assist in increasing the dissolution of substrates by reducing interfacial tension (Ren et al., 2014). The application of organic materials for soil amendment as a means of improving physical properties of degraded soil was reported by Are et al. (2018). However; treatment of porous media such as soil with fermented liquids and its associated effects has not been reported.

Fermented cereal gruels and beverages serve as source of Lactic Acid Bacteria (LAB) and yeasts (Olukoya et al., 1994; Steinkraus, 1996). The major microorganism found in Ogi fermentation is L.plantarum, responsible for the production of lactic acid (Banigo and Muller, 1972; Ohenhen and Ikenebomeh, 2007). Studies conducted by Afolayan et al. (2017) revealed that Omidun (cereal gruel supernatant (CGS)) obtained from popular acid fermented cereal gruel sediment called Ogi in Nigeria had the highest LAB count compared to the cooked Ogi. However, published works on effects of soil microbial isolates dwell more on how to improve increased grain crop yields (Khosravi et al., 1998; Abd El-Ghaniy et al., 2010). In addition, priobiotic strains have been reported to have potential for the deletion of metalloids from water and soil (Bhakta et al., 2012; Ameen et al., 2020; Hasr Moradi Kargar and Hadizadeh Shirazi, 2020). It has also been reported by Osungbaro (2009) that different varieties of maize exhibit various pasting viscosities and consistencies on the amylograph while the swelling characteristics (thickening) of Ogi have been found to be predisposed by fermentation period. For instance, Aminigo and Akingbala (2004) reported that lowering of viscosities in the process of supplementation of fermented cereal foods has effects on the consistency of the gruels prepared there from. Furthermore, Klang et al. (2019) reported that reduction of the swelling capacity on maize-based formulations could be due to its richness in amylase and fermentation process.

In this study, we lengthen the work of Ganiyu *et al.* (2020) by considering the potential of cereal gruel supernatant (CGS), a readily available cereal based starchy fermented gruel as treatment on improving physiohemical and geoenvironmental characteristics of greywater polluted

soils. The explicit objectives were to assess the effect of fermented cereal gruel treatment on physicochemical and hydrogeological features of sullage polluted soils at changing sampling depths, the potential of greywater contaminated soil as suitable aggregate for pavement sub base and base materials and the use of analysis of variance to study the interdependence amongst the mean values of analyzed soil properties under different sampling locations and fermented gruel treatment.

Material and Methods

Description of the Study Area and its Geology

The research study took place at two different sampling locations (Mapo and Isolu within Ibadan and Abeokuta cities, respectively) southwest, Nigeria. The location map showing the two sampling sites is shown in Fig.1. The two study sites fall within the humid environment of southwest Nigeria (Akintola, 1986; Badmus and Olatinsu, 2010; Akinyemi et al., 2011). Residential houses in the two sampling locations are characterized by worst environmental conditions, overcrowded buildings, derelict and makeshift wooden houses with little or no compliance to urban development and planning regulations. Furthermore, houses in the studied locations discharge household wastewaters/sewages into pit latrines while greywater (sullage) has been in interaction with untilled soils for more than twenty epochs in the two sites.

Geological Setting

The sampling sites is within the basement complex formation in southwest Nigeria (Key, 1992; Akinse and Gbadebo, 2016). The basement complex rock consists of crystalline igneous and metamorphic rocks, and are lightly classified into three key units specifically the migmatite-gneiss, undifferentiated schist belt, and older granite series (Elueze, 2000; Okunlola *et al.*, 2009; Ganiyu *et al.*, 2020). The predominant basement rocks underlie Isolu and Mapo sites are migmatite and quartzite, respectively (Ganiyu *et al.*, 2020).

Soil Sampling, Analysis and Treatment

Twenty four (24) soil samples were obtained at changing soil depths of 0-0.5 m, 0.5-1.0 m, and 1.0-1.5 m from the two sample sites. At each study site, two sample points were formed: discharge region of greywater in direct contact with natural soil and a control (unpolluted) site. From the discharge point of greywater, a 2 m by 2 m was identified with the use of a tape measure, with soil samples taken at the center of the plot. Sullage polluted soil (SPS) was obtained in the confines of sullage release region whereas control (unpolluted) sample was taken



Fig. 1. Site Map of the Study area (source: Ganiyu et al., 2020)

out of unpolluted spot at separate sample site. The disrupted soil samples were collected with the help of soil auger and suitably packed inside polythene bags and labeled properly for easy identification. Disturbed soil samples collected were used for physical-chemical and geotechnics qualities. The soil samples were dehumidified, mildly crushed and separated with a 2 mm sieve before commencement of analyses. Metallic cylindrical cores (5 cm diameter and 5 cm in height) were also used to take placid soil samples at variable depths

for the ascertainment of saturated hydraulic conductivity, porosity, and moisture content. Samples were obtained at different depths in order to assess the trend of variation of analyzed parameters with sampling depth. The collected samples were evaluated in the soil physics laboratory at the Institute of Agricultural Research & Training (IAR&T), Moor Plantation, Ibadan, Oyo State, Nigeria

Another set of GCSs and CSs from the two locations were further treated with 50 ml of Cereal Gruel Supernatant (CGS) and left for a week for chemical reactions to take place between the soil particles and CGS. The soil physical-chemical factors considered were soil pH, OM, CEC, particle size distribution (PSD), as well as soil resistivity (SR) while geotechnics characteristics are plastic limit (PL), liquid limit (LL), plasticity index (PI), bearing ratio (BR), SS, porosity, MC and K_{eet} respectively. A digital pH meter was used to measure pH in water of each soil sample based on ASTM G51-95 (ASTM, 2012) standard while soil MC was determined using weight loss method in conformity with ASTM D4959-07 (ASTM, 2007). PSD was evaluated by revised Boyoucous gravimeter as defined by Gee and Or (2002) with soil textural sorting done with the use of USDA textural triangle. The SR was measured with the use of miller soil boxes in conformity with the ASTM G57-05 (ASTM, 2005) standard, K_{sat} of core (undisturbed) samples was determined by constant head method after Reynolds and Elrick (2002). Both PL and LL were evaluated based on ASTM D4318-17E1 (ASTM, 2017) standard whereas SS was quantified using ASTM D2850-15 (ASTM, 2015) standard. The BR was measured according to ASTM D1883-16(ASTM, 2016) standard.

Soil permeability was estimated as the quotient of pore capacity of the test sample to the total volume of specimen. The cation exchange capacity was measured by ammonium acetate (NH_4OAC) displacement techniques of Jackson (1958) whereas organic matter (OM) was measured in the laboratory by $K_2Cr_2O_7-H_2SO_4$ method as improved by Nelson and Somners (1982). The dry density was estimated according to ASTM D7263-09 (ASTM, 2018) utilizing the expression:

$$\rho_{d} = \frac{Ms(g)}{V_{h}(cm^{3})}$$

Where ρ_a stands for earth dry density (in g cm³); M_s denotes the mass of oven parched soil (in gram) and V_b stands for the volume of the soil (in cm³). The capacity of the soil is approximately equals to the volume of the cylindrical core, and $V_b = \pi r^2 h$; with r and h referring to the internal radius and the height of the cylindrical core, respectively.

Statistical Analysis

Analysis of variance (ANOVA) was used on the obtained soil data in order to evaluate the implication of all tested soil factors based on sampling depths and amendments. Univariate ANOVA was done to examine if the chosen soil physical-chemical and geotechnical/hydrogeological properties altered considerably regarding changing depths and soil treatment.

Results and Discussion

Physical-chemical and Hydromechanical Properties of test soils

The outcomes of physical-chemical qualities of the collected control soils, GCSs, treated CSs and treated GCSs at the two sampling locations are shown in Table 1, whereas the results of soil hydro-geotechnical characteristics are shown in Table 2. As shown in Table 1, addition of CGS treatment to CS and GCS for each sampling depth at Ibadan location resulted in slight reduction in percent sand content but slight increase in percent silt. However, for soil samples collected at Isolu location, treatment with CGS leads to slight rise in % sand of control soil (CS) at all selection depths, but only at soil depths 50 and 100 cm for Isolu GCS. The addition of CGS to CS and GCS samples at Ibadan resulted in slight increase in % clay at each soil depth. However, at Isolu sampling location, the percent clay in GCS reduced following the application of CGS at 0.5 and 1.0 m sampling depths. Treatment of collected soil samples at Ibadan (Vertic Cambisol) with CGS did not alter the pH status of either CS or GCS. However, addition of CGS to Isolu GCS leads to alteration in soil pH status at sampling depths 0.5 and 1.0 m (see Table 1). According to pH permissible limit set for mixing water for concrete, the pHs of Isolu GCS at all sampling depths fall within the pH limit of 6 - 9 (CCCA, 2007; EPA, 2012). We observed trivial rise in OM under the CGS treatment of control (unpolluted) soil as well as GCS at Ibadan location. Nevertheless, the alteration in OM due to the addition of CGS to CS and GCSs at Isolu location did not follow clear trends. There is no noticeable effect on CEC values of both GCSs and CSs at Ibadan location following the application of CGS at all sampling depths. However, addition of CGS treatment to Isolu CSs resulted in slight reduction of their CEC values at depths 0-50 cm and 50-100 cm relative to CEC values of untreated CS. The CEC value of treated GCS at depth 0.5 m increased significantly over that of untreated GCS but slightly increased at 1.0 m depth at Eutric Luvisols location. Compared to the initial porosity values of untreated control and GCS at Ibadan, the addition of CGS treatment to both CS and GCS did not result in any alteration of porosity values at all sampling depths. However, there is reduction in porosity values for treated Isolu GCS at depths 0- 0.5 and 0.5-1.0 m. The obtained SR values for soil samples from Isolu and Ibadan varied from 3.56 to 7.45 ohmcm and from 4.31 to 7.77 ohmcm, respectively. The soil resistivity values for GCSs and CSs at both locations fall below 10.00 ohmcm.

Soil resistivity values at 0.5 and 1.0 m depths remain constant for untreated and treated CSs at Ibadan while addition of CGS to Ibadan GCS results in slight increment of soil resistivity values at all sampling depths. However, addition of 50 ml CGS to Isolu CS resulted in reduction of soil resistivity values at 0.5 and 1.0 m depths while the reduction of SR occurred at soil piths100 cm and 150 cm for treated Isolu GCS.

Table 2 shows that K_{sat} value of Ibadan GCS at depth 0.5 m clearly reduced following the addition of CGS treatment. Addition of CGS to Ibadan CS revealed no noticeable effect on K_{sat} values while there is fluctuation in K_{sat} values for treated Ibadan GCSs. When compared with the initial values of K_{sat} in untreated CS at Isolu

location, addition of CGS treatment leads to reduction of K_{sat} at both 0.5 and 1.0 m depths. However, addition of CGS to Isolu GCS resulted in significant increase of K_{sat} at 0.5 m depth. It must be noted that the lowest K_{sat} value (0.13 cm/hr) was noticed in treated Isolu GCS (with highest value of MC (0.110 m³ m³) at depth 1.0 -1.5 m whereas the maximum value of K_{sat} (lowest MC value (0.082m³ m³) was also observed in treated Isolu GCS at soil depth 0.5 m.

Hydro-geotechnical Properties

The results of hydro-geotechnical analyses carried out on the collected and treated soils from the two sampling sites are presented in Table 2. The collected raw CS, GCS, treated CS and treated GCS at 0.5 and 1.0 m sampling

Description	sand	silt	Clay	pH in H2O	OM (g/kg)	CEC (cmol/kg)	Soil resistivity (ohm cm)
0.5 m Control Mapo I	74.22	12.86	12.92	9.32	0.81	2.87	6.25
1.0 m Control Mapo I	66.22	12.86	20.92	8.31	0.81	0.99	6.25
1.5 m Control Mapo I	60.22	8.86	30.92	5.21	0.56	0.37	4.31
0.5 m Control Mapo 2	73.29	13.26	13.45	9.49	0.84	2.85	6.45
1.0 m Control Mapo 2	65.29	13.26	21.45	8.45	0.84	0.99	6.45
1.5 m Control Mapo 2	59.29	9.26	31.45	5.36	0.59	0.37	4.50
0.5 m GCSMapo Ib	74.68	12.86	12.46	9.38	0.81	3.35	6.25
1.0 m GCSMapo Ib	67.68	13.86	18.46	9.16	0.88	1.25	6.74
1.5 m GCS Mapo Ib	60.68	10.86	28.46	6.43	0.69	0.48	5.28
0.5 m GCS Mapo 2	73.56	12.99	13.45	9.33	0.82	2.87	6.31
1.0 m GCS Mapo 2	66.56	15.99	21.45	10.39	1.01	1.42	7.77
1.5 m GCS Mapo 2	59.56	11.99	31.45	6.97	0.76	0.44	5.83
0.5 m Control Isolu	71.68	8.86	19.46	6.20	0.56	1.23	4.31
1.0 m Control Isolu	59.68	14.86	25.46	8.66	0.94	0.66	7.22
1.5 m Control Isolu	53.68	12.86	33.46	6.74	0.81	0.35	6.25
0.5 m Control Isolu 2	72.03	7.52	20.45	5.29	0.48	1.10	3.66
1.0 m Control Isolu 2	60.03	14.52	25.45	8.51	0.92	0.59	7.06
1.5 m Control Isolu 2	54.03	13.52	32.45	7.13	0.86	0.37	6.57
0.5 m GCS Isolu	72.22	9.86	17.92	6.95	0.62	1.40	4.79
1.0 m GCS Isolu	58.22	14.86	26.92	8.45	0.94	0.55	7.22
1.5 m GCS Isolu	52.22	12.86	34.92	6.56	0.81	0.31	6.25
0.5 m GCS Isolu 2	73.22	15.33	11.45	10.96	0.97	3.86	7.45
1.0 m GCS Isolu 2	66.22	7.33	26.45	4.74	0.46	0.57	3.56
1.5 m GCS Isolu 2	52.22	12.33	35.45	6.29	0.78	0.28	5.99

Table 1. Physicochemical characteristics of untreated and treated soils at the two sites

*Note: Description with 2 at the front denotes soil treated with CGS

IISU 🌺

depths in Ibadan sampling location had LL values within the permissible limit of <25% for suitable aggregates for base and sub-base courses. At Isolu location, raw CS, raw GCS, and treated CS collected at 0.5 m depth had LL values within the specification set by ASTM D1241-00 (2000) and AASHTO M147 (2008). However, addition of CGS to Isolu GCS allowed LL values at 0.5 and 1.0 m depths to be within the specification limit for sub-base materials. It must however be emphasized that state like Colorado allows LL values up to 35% (Colorado, 2010; Osouli et al., 2017). All the collected raw soil samples (CS and GCS) as well as treated soil samples at the two locations had PL values that lie within the safe recommended values of 50% maximum for sub-base and base materials. From Table 2, the level of plasticity of all the tested soil samples (raw and treated CS, raw and treated GCS) from the two sampling sites belong to low plastic soil with PI less than 7.0 (Mohamed et al., 2018).

According to the standard specification of PI values for aggregates used in base and sub- base courses, the CS, GCS, treated CS, and treated GCS for each sampling depth at Ibadan had PI values < 6% and thus suitable as aggregates for base and sub-base materials (ASTM D1241-00, 2000). However, at Isolu location, CS, GCS, treated control soil, and treated GCS at 0.5 and 1.0 m depths pass the specification limit of PI< 6%. The values of DD fluctuated from 1.38 to 1.60 Mg/ m^3 in collected samples at Isolu whereas it varied starting 1.43 to 1.59 Mg/m³ in Ibadan soil samples. The minimum values of DD for collected GCS, CS, treated GCS, and treated CS for the two study sites were observed at depth 1.5 m. Application of CGS treatment elevates the DD values of Isolu GCS. However, the DD values almost remain unchanged for amended GCS at Ibadan. Highest value of dry density was discovered in treated Isolu GCS (of sandy loam texture and minimum MC) at depth 0.5 m.

Description	DD (Mg m ⁻³)	Porosity (%)	MC m ³ m ⁻³	Ksat (cm/hr)	Liquid Limit	Plastic Limit	Plasticity Index	Shear Strength KN/m ²	Bearing Ratio (%)
0.5 m Control Mapo Ib	1.58	40.38	0.087	1.31	17.2	13.7	3.5	151.61	3.82
1.0 m Control Mapo Ib	1.49	43.77	0.093	0.45	225	17.9	4.6	150.82	6.18
1.5 m Control Mapo Ib	1.42	46.42	0.98	0.17	26.5	21.1	5.4	104.46	6.30
0.5 m Control Mapo 2	1.58	40.38	0.088	1.30	17.8	14.2	3.6	156.18	4.10
1.0 m Control Mapo 2	1.49	43.77	0.94	0.45	23.1	18.4	4.7	156.19	6.54
1.5 m Control Mapo 2	1.42	46.42	0.099	0.17	27.1	21.6	5.5	109.17	6.70
0.5 m GCS Mapo Ib	1.59	40.00	0.083	1.53	16.9	13.4	3.4	151.70	3.68
1.0 m GCS Mapo Ib	1.51	43.02	0.089	0.57	21.5	17.2	4.4	163.50	5.88
1.5 m GCS Mapo Ib	1.44	45.66	0.097	0.22	26.2	20.9	5.3	128.04	7.11
0.5 m GCS Mapo 2	1.58	40.38	0.083	1.31	17.6	14.0	3.6	153.15	4.02
1.0 m GCS Mapo 2	1.51	43.02	0.091	0.65	22.3	17.8	4.5	188.52	6.41
1.5 m GS Mapo 2	1.43	46.04	0.098	0.20	27.0	21.5	5.5	141.36	7.84
0.5 m Control Isolu	1.52	42.64	0.084	0.56	18.9	15.0	3.8	105.43	3.96
1.0 m ControlIsolu	1.45	45.28	0.096	0.30	26.9	21.4	5.5	175.19	8.70
1.5 m Control Isolu	1.40	47.17	0.107	0.16	30.9	24.6	6.3	151.70	9.89
0.5 m Control Isolu 2	1.51	43.02	0.090	0.50	18.6	14.8	3.8	88.66	3.54
1.0 m Control Isolu 2	1.44	45.66	0.096	0.27	26.6	21.2	5.7	171.19	8.50
1.5 m Control Isolu 2	1.40	47.17	0.109	0.17	30.6	24.4	6.5	159.40	10.09
0.5 m GCS Isolu	1.52	42.64	0.083	0.64	18.5	14.7	3.8	116.25	4.06
1.0 m GCS Isolu	1.43	46.04	0.094	0.25	27.9	22.2	5.4	175.19	9.20
1.5 m GCS Isolu	1.38	47.92	0.109	0.14	31.9	25.4	6.2	151.58	10.32
0.5 m GCS Isolu 2	1.60	39.62	0.082	1.76	17.9	14.2	3.6	180.74	4.04
1.0 m GCS Isolu 2	1.46	44.91	0.086	0.26	22.5	17.9	4.6	86.42	4.46
1.5 m GCS Isolu 2	1.38	47.92	0.110	0.13	31.9	25.4	6.5	145.37	10.05

Table 2. Hydro-geotechnical properties of collected and treated soils at the two sites

*Note: Description with 2 at the front denotes treated soil with CGS

IISUniv.J.Sc.Tech. Vol.11(1), 64-77 (2022)





















Source	Dependent Variable	Type III Sum of Squares	df	Mean Square	F	Sig.
	Sand	1111.583	2	555.792	36.038	.000
2	Silt	17.583	2	8.792	1.151	.349
	Clay	1125.250	2	562.625	32.699	.000
	dry density	.092	2	.046	32.852	.000
	Porosity	131.370	2	65.685	32.886	.000
	МС	.001	2	.001	30.068	.000
	hydraulic conductivity	3.875	2	1.937	18.466	.000
Danth	Liquid Limit	494.298	2	247.149	35.540	.000
Depth	Plastic Limit	315.901	2	157.950	36.300	.000
	Plasticity index	20.606	2	10.303	35.174	.000
	Soil resistivity	4.151	2	2.076	1.151	.349
	рН	21.618	2	10.809	3.485	.064
	Organic matter	.070	2	.035	1.149	.349
	Shear strength	2409.137	2	1204.568	1.138	.353
	Bearing ratio	89.044	2	44.522	16.423	.000
	CEC	18.631	2	9.315	18.521	.000
	Sand	5.172	3	1.724	.112	.952
	Silt	3.152	3	1.051	.138	.936
	Clay	14.326	3	4.775	.278	.841
	dry density	.001	3	.000	.335	.800
	Porosity	2.010	3	.670	.335	.800
	MC	6.617E-005	3	2.206E-005	.969	.439
	hydraulic conductivity	.220	3	.073	.699	.570
Q - 11 T	Liquid Limit	2.090	3	.697	.100	.958
Soil Type	Plastic Limit	1.388	3	.463	.106	.955
	Plasticity index	.088	3	.029	.100	.958
	Soil resistivity	.734	3	.245	.136	.937
	рН	2.266	3	.755	.243	.864
	Organic matter	.012	3	.004	.132	.939
	Shear strength	438.695	3	146.232	.138	.935
	Bearing ratio	1.078	3	.359	.132	.939
	CEC	1.051	3	.350	.696	.572
Depth * Soil Type	Sand	15.750	6	2.625	.170	.980
	Silt	24.750	6	4.125	.540	.768
	Clay	11.750	6	1.958	.114	.993
	dry density	.002	6	.000	.187	.975
	Porosity	2.239	6	.373	.187	.975
	MC	4.458E-005	6	7.431E-006	.327	.910
	hydraulic conductivity	.303	6	.050	.481	.810
	Liquid Limit	7.203	6	1.200	.173	.979

 Table 3. ANOVA result for the analyzed soil parameters

	- M	0	35 - S		3	H
	Plastic Limit	4.526	6	.754	.173	.979
	Plasticity index	.331	6	.055	.188	.974
	Soil resistivity	5.841	6	.973	.540	.769
	pH	9.000	6	1.500	.484	.808
	Organic matter	.101	6	.017	.552	.760
	Shear strength	3415.615	6	569.269	.538	.770
	Bearing ratio	6.206	6	1.034	.382	.877
	CEC	1.457	6	.243	.483	.809
	Sand	185.070	12	15.422		
	Silt	91.635	12	7.636		
	Clay	206.475	12	17.206		
	dry density	.017	12	.001		
	Porosity	23.968	12	1.997		
	MC	.000	12	2.275E-005		
	hydraulic conductivity	1.259	12	.105		
	Liquid Limit	83.450	12	6.954		
Error	Plastic Limit	52.215	12	4.351		
	Plasticity index	3.515	12	.293		
	Soil resistivity	21.631	12	1.803		
	pН	37.221	12	3.102		
	Organic matter	.365	12	.030		
	Shear strength	12704.800	12	1058.733		
	Bearing ratio	32.532	12	2.711		
	CEC	6.036	12	.503		
	CEC	63.483	24			
	Sand	1317.575	23			
	Silt	137.120	23			
	Clay	1357.800	23			
	dry density	.112	23			
	Porosity	159.588	23			
	MC	.002	23]		
Total	hydraulic conductivity	5.656	23	1		
	Liquid Limit	587.040	23			
	Plastic Limit	374.030	23			
	Plasticity index	24.540	23			
	Soil resistivity	32.357	23]		
	pН	70.105	23	1		
	Organic matter	.548	23	1		
	Shear strength	18968.247	23			
	Bearing ratio	128.859	23			
	CEC	27,174	23	1		

This is in agreement with reported result of Shifa and Thomas (2017) that maximum dry density occurred at lowest MC. The addition of CGS treatment did not affect the DD values of both GCS and CS at Ibadan sampling location. The values of shear strength (SS) for Eutric Luvisols soils ranged from 86.4 to 180.7 KN/m² and 104.5to 188.5 KN/m² for Vertic Cambisol soils. The minimum shear strength value was obtained in treated Isolu GCS at depth 1.0 m whereas maximum shear strength value was observed in treated Ibadan GCS at soil depth 1.0 m. Addition of CGS to both CSs and GCSs collected from Ibadan location led to increase in SS values at all the sampling depths when compared with SS values of untreated CS and GCS. There is reduction in SS values at 0.5 m and 1.0 m sampling depths for CS treated with CGS at Isolu sampling location. However, addition of CGS to Isolu GCS resulted in higher SS value at depth 0.5 m. The bearing ratio (BR) results for sullage polluted soil and unpolluted soil at the two study sites rise with increase in soil depths (Table 2). Compared to initial BRs of CS and GCS at Ibadan, addition of CGS treatment resulted in slight increase of BR value for each sampling depth. However, application of CGS treatment led to reduction in BR values of treated Isolu CS at 0.5 and 1.0 m depths. There is significant reduction in BR value of treated Isolu GCS at 1.0 m sampling depth. The moisture content (MC) of Isolu soils in m³m-³ fluctuated between 0.082 and 0.110 whereas it varied from 0.083 to 0.099 in collected Ibadan soils. It should be noted that addition of CGS to control soils and GCSs at the two study sites resulted in little or no change in MC. Fig. 2a and 2b show the impact of CGS treatment on values of analyzed properties in collected soil samples (CS and GCS).

Results of Statistical Analyses

Table 3 presented the ANOVA results according to sampling depths and cereal gruel treatment. From the ANOVA Table 3, the variations in clay particles, sand particles, soil pH, CEC, porosity, MC, saturated hydraulic conductivity (K_{sat}), PI, ALs, and bearing ratio (BR) were substantial at 5% level according to soil depth. However, the differences in all analyzed parameters upon treatment with CGS were not significant at 5% level (p<0.05). For the two study locations, the mean % clay, porosity, MC, PL, LL, PI, and BR increased from 0.5 m to 1.5 m depth. However, the mean values of soil properties such as % sand, DD, K_{sat}, pH, and CEC decreased from 0.5 m depth to 1.5 m depth. Similar significant changes in % sand and % clay with soil depth were also reported by Gul et al. (2011). They discovered that sand particles decreased while clay content increased with increasing soil depth. A similar increase in soil MC with depth was

IISU 🎬

also obtained by Okiotor et al. (2019) in their analysis of geotechnical properties of Ajali sandstone in southeastern part of Nigeria. The reduction of CEC with increase in depth obtained in this study concurs with similar observation by Alhaji et al. (2020). However, the reduction in DD with increase in sampling depth obtained in this study is in contrast with increase in DD with increase in depth reported by Alhaji et al. (2020) for soils under gneiss basement complex in north-central part of Nigeria. It should be noted that highest mean values of ALs and PI were recorded at depth 1.5 m for treated Isolu GCS while the minimum values of ALs and PI were observed at soil depth 0.5 m for Ibadan sullage polluted soils. However, highest values of porosity, % clay, and MC at depth 1.5 m were observed in Isolu GCS while least values of % clay, porosity, and MC were observed in treated Isolu greywater contaminated soil (GCS) at soil depth 50 cm. The recorded results for DD, K_{sat}, soil pH and CEC for treated Isolu GCS were significantly higher at 0.5 m depth than at other sampling depths. However, untreated Ibadan GCS had significantly higher value of % sand at 0.5 m depth.

Conclusion

The study assessed the impact of fermented CGS treatment on observed soil properties of GCSs at various sampling depths in two locations within Basement Complex formation. Laboratory soil analyses were performed on GCS, CS, treated GCS and treated CS to assess alteration of selected soil properties. The results showed that alteration of chosen soil geotechnics/hydraulic and physical-chemical qualities on both CS and GCS depends greatly on depth. The effect of CGS treatment on analyzed samples altered soil properties on different scales. For example, the CGS treatment had no significant effects on DD and MC at both locations while other analyzed properties are site specific. According to pH permissible limit set for mixing water for concrete, the pHs of Isolu GCSs at all sampling depths fall within the pH limit of 6 – 9. The maximum and minimum values of $K_{\scriptscriptstyle sat}$ and CEC were observed in treated Isolu greywater polluted soil at 0.5 and 1.5 m depths, correspondingly. All the collected raw soil samples (CS and GCS) as well as treated/amended soils samples at both sites had PL values that lie within the safe recommended values of 50% maximum for sub-base and base materials. Furthermore, the degree of plasticity of all the collected soil samples (raw and treated CS, raw and treated GCS) at the two study sites indicates their low plastic nature. ANOVA result revealed no significant differences in the mean values of all analyzed parameters based on soil treatment while most of the

analyzed soil qualities with the exception of shear strength, SR, and OM content varied considerably at 5% level based on soil depths. There should be a further study to evaluate the effects of other starchy fermented gruels treatments at varying concentrations on soil properties at varioussampling depths.

References

- Abd El-Ghany, B.F., Arafa, R.A.M., El-Rahmany, T.A., El-Shazly, M.M., 2010. Effect of some soil microorganism on soil properties and wheat production under NorthSinai conditions. J. Appl. Sci. Res. 5, 559-579.
- Afolayan, A.O., Ayeni, F.A., Ruppitsch, W., 2017. Antagonistic and quantitative assessment of indigenous lactic acid bacteria in different varieties of Ogi against gastro intestinal pathogens. Pan African Medical Journal. doi: 10.11604/pamj.2017.27.22.9707.
- Akinse, A.G. and Gbadebo, A.M., 2016. Geological Mapping of Abeokuta Metropolis, Southwestern Nigeria. Int. J. Sci. Eng. Res. 8, 979-983.
- Akintola, J.O., 1986. Rainfall distribution in Nigeria. 1892-1983. Impact publishers, Ibadan 380pp.
- Akinyemi, O, D., Bello, R., Ayodeji. A.T., Akanbi, D.E., Ibine, M.M. and Popoola, J.A., 2011. Evaluation of water quality in Abeokuta, southwest Nigeria. Int. J. Water Res. Env. Eng. 3(13), 341-369. doi: 10.5897/IJWREE 11.099.
- Al-Hamaiedeh, H., Bino, M., 2010. Effect of treated greywater reuse in irrigation on soil and plants. Desalination.256,115-119.
- Alhaji, M.M., Musa, A., Mambo, A.D., Taiye, W.A., Musa, A.Y., 2020. Physicochemical, mineralogical and physical properties of overburden over gneiss basement complex in Minna metropolis, Nigeria. In International Conference on Innovations and Interdisciplinary Solutions for Underserved Areas. 64-74.
- Thorn, J.P., Gueye, A., Hejnowicz, A.P. eds., 2020. Innovations and interdisciplinary solutions for undeserved Areas: Inter Sol 2020. Lecture notes of the Institute for Computer Science, Social Informatics and Telecommunication Engineering, 321. Springer Cham.https://doi.org/10.1007.
- Ameen, F.A., Hamdan, A.H., El-Naggar, M.Y., 2020. Assessment of the heavy metal bioremediation efficiency of the novel marine lactic acid

bacterium, *Lactobacillus plantarum* MF042018. Sci. Rep. 10, 314, doi:10.1038/s41598-019-57210-3.

- Aminigo, E.R., Akingbala, J.O., 2004. Nutritive composition of Ogi fortified with Okra seed meal. J. Appl. Sci. Env. Mgt. 2, 23-28.
- Are, K.S., Adelana, A.O., Fademi, I.O., Aina, O.A., 2018. Improving physical properties of degraded soil: Potential of poultry manure and biochar. Agric. N at. Resour. 51 (6), 454-462 <u>https://doi.org/10.1016/j.anres.2018.03.009</u>
- Anwar, A.H. 2011. Effect of laundry greywater irrigation on soil properties. J. Env. Res. Devt., 4, 863-870.
- AASHTO M147., 2008. Standard specification for materials for aggregate and soil-aggregate Subbase, Base and Surface courses. American Association of State Highway and Transportation Officials, Washington, DC.
- ASTM D1241-00., 2000. Standard specification for materials for soil –aggregate subbase, base and surface courses. ASTM International West Conshohocken, Pennsylvania.
- ASTM D1883-16., 2016. Standard Test Methods for California Bearing ratio (CBR) of laboratory compacted soils. ASTM international West Conshohocken, PA.<u>www.astm.org</u>
- ASTM D2850-15., 2015. Standard test method for unconsolidated-undrained triaxial compression Test on cohesive soils. ASTM International, West Conshohocken, PA. www.astm.org.
- ASTM D4318-17E1 2017) Standard test methods for liquid limit, plastic limit and plasticity index of soils. ASTM international, West Conshohocken, PA. <u>www.astm.org</u>
- ASTM D4959-07. 2007. Standard test method for determination of water (moisture) content soil by direct heating. Annual Book of ASTM standards. American society for testing materials, New York
- ASTM D7263-09 (2018) Standard test methods for laboratory determination of density (unit weight) of soil specimens. ASTM international. West Conshohocken, PA 2018. <u>www.astm.org</u>.
- ASTM G51-95. 2012. Standard test method for measurement of pH of soil for use in corrosion testing. Annual book of ASTM standards. American Society for Testing and Materials
- ASTM G57-05., 2005. Standard test method for

measurement of soil resistivity using two electrodes soil box method. Annual book of ASTM standards. American society for Testing and Materials

- Badmus, B.S. and Olatinsu, O.B. (2010) Aquifer characteristics and groundwater recharge pattern in a typical basement complex, southwestern Nigeria. African J. Environ. Sci. Tech. 4(6), 328-342.
- Baharvand, S., Mansouri Daneshvar, M.R., 2019. Impact assessment of treating wastewater on the physicochemical variables of environment: a case of Kermanshah wastewater treatment plant in Iran. Environ. Syst. Res., 8, 18. https://doi.org/10.1186/s40068-019-0146-0.
- Banigo, E.O., Muller, H.G., 1972. Manufacture of Ogi (Nigerian fermented cereal porridge) comparative evaluation of corn, sorghum, and millet. Canadian Inst. Food Sci. & Tech., 5, 217-221.
- Bhakta, J.N., Ohnishi, K., Munekage, Y., Iwasaki, K., Wei, M.Q., 2012. Characterization of lactic acid bacteriabased probiotic as potential heavy metal sorbents. J. Appl. Microbiol., 112, 1193-1206.
- Calabar, A.F., Karabash, Z., 2015. California Bearing Ratio of a sub-base material modified with tire buffing and cement addition. J. Test. Eval. 6. 1-9. DOI:10.1520/JTE20130070.
- CCCA 2007., Use of recycled water in concrete production, cement concrete and aggregates Australia.
- Cebeci, O.Z., Saatci, A.M., 1989. Domestic sewage as mixing water in concrete. ACI Mater. J., 5, 503-506.
- Colorado Department of Transportation (CDOT)., 2010. Standard spécifications for Road and Bridge construction.
- Elueze, A.A., 2000. Compositional appraisal and petrotectonic significance of the Imelu banded ferraginous rock in Ilesha schist Belt, south western, Nigeria. J Mining and Geology, 1.9-18.
- EPA , 2012. Guidelines for water reuse. EPA/600/R-12/618, Washington, D.C.
- Ganiyu, S.A., Are, K.S., Olurin, O.T. 2020. Assessment of geotechnical and physico-chemical properties of age-long greywater-contaminated soils in basement complex areas, southwest Nigeria. A p p l . W a t e r S c i . , 10, 114. <u>https://doi.org/10.1007/s13201-020-01201.7.</u>
- Gee, G.W. Or, D.,2012 Particle size analysis in: Dane,

IISU 💥

J.H., Topp, G.C. (Eds,) Methods of soil analysis, part 4, physical methods, SSSA inc, Madison, Wisconsin, pp225-294.

- Ghrair, A.M., Al-Mashaqbeh, O.A., Sarireh, M.K., Al-Kouz, N., Farfoura, M., Megdal, S. 2018. Influence of grey water on physical and mechanical properties of mortar and concrete mixes. Ain. Shams. Eng. J., 9, 1519-1525.
- Greywater.com (2004) Greywater- what it is, how to treat it, how to use it (November, 2021.
- Gul., H., Khattak, R.A., Muhammad, D., Shah, Z, 2011. Physical properties of soils under subsurface drainage system. Sarhad Journal of Agriculture. 2, 225-232.
- Hasr Moradi Kargar, S., Hadizadeh Shirazi, N., 2020. Lactobacillus fermentum and Lactobacillus plantarum bioremediation ability assessment for copper and zinc. Arch. Microbiol. 202, 1957-1963. https://doi.org/10.1007/s00203-020-01916-w.
- Jackson, M.L.C. 1958. Soil Chemical Analysis Practice. New Jersey, US. Haline Eagle Wood Cliff limited. 230pp.
- Key, R. (1992) An introduction to the crystalline basement of Africa. In: Wright E, and Burgass, W. (Eds) Hydrogeology of the crystalline basement aquifers in Africa. Geological society of special publication London, 66: 29-57.
- Khosravi, H, Rastin, N.S. Mohamadu, M., 1998. Effect of Azotobacter inoculation as a biological fertilizer on growth and yield of wheat. Soil and Water Journal, 12, 6, 1-8, 111.
- Klang, J.M., Tene, S.T., Fombasso, A.D., Tsopzong, A.B.T., Women, H.M., 2019. Application of germinated corn flour on the reduction of flow velocities of the gruels made from corn,soybean, moringa oleifera leaf powder and Cassava. J. Food Process Tech. 7, 800.
- Kosobucki, P., Kruk, M., Buszewski, B., 2008. Immobilization of selected heavy metals in sewage sludge by natural zeolites. Bioresour. Technol.13,972-5976.
- Kucche, K.J., Jamkar, S.S., Sadgir, P.A., 2015. Quality of water for making concrete: A review of literature. Int. J. Sci. Res. Publ. 1, 1-10.
- Mohamed, R.M., Al-Gheeti, A.A., Noramira, J., Chan, C.M., Amir Hashim, M.K., Sabariah, M., 2018. Effect of detergents from laundry greywater on soil properties: a preliminary study. Appl. Water

Sci. 8, 16. <u>https://doi.org/10.1007/s13201-018-0664-3.</u>

- Morel, A., 2005. Greywater treatment on household levels in developing countries- a state of the art review. Swiss Federal Institute of Technology Zurich.
- Nelson, D.W., Somners, I.E., 1982. Total carbon, Organic carbon and Organic matter In: Page, A.L., Miller, R.H., Keeney, D.R. (Eds). Methods of Soil Analysis, Part-chemical and microbiological properties, 2nd edition. ASSA, SSSA, Madison, WI : 539-579.
- Ohenhen, R.E., Ikenebomeh, M.J., 2007. Shelf stability and Enzyme activity studies of *Ogi*: A corn meal fermented product. J. Am. Sci. 1, 38-42.
- Okiotor, M.E., Arumala, R., Ejairu, K., Ogueh, E.O., 2019. Geotechnical properties of Ajali sandstone in Enugu, Nigeria for engineering use. Nig. J. Tech. (NIJOTECH). 2, 294-301.
- Okunlola, O.A., Adeigbe, O.C, Oluwatoke, O.O., 2009. Compositional and petrogenetic features of schistose rocks of Ibadan area, south western Nigeria. Earth Sci. Res. J. 13 (2), 29-43.
- Olukoya, D.K., Ebigwei, S.I., Olasupo, N.A., Ogunjimi, A.A., 1994. Production of Dogik: an improved Ogi (Nigerian fermented weaning food) with potentials for use in diarrhoea control. J. Trop. Pediatr. 2, 108-113.
- Osouli, A., Salam, S., Othmanawny, G., Tutumluer, E., Beshears, S., Shoup, H., Eck, M., 2017. Results of soaked and unsoaked California bearing rate tests on unbound aggregates with varying amounts of fines and dust ratios. Transportation Research Record. 1, 13-19.

- Osungbaro, T.O., 2009. Physical and nutritive properties of fermented cereal foods. African J. Food Sci. 2, 023-027.
- Ren, M., Yuan, X., Zhu, Y., Huang, H., Zeng, G., Ii, H., Chen, M., Hou, W., Chen, C., Lin, N., 2014. Effect of different surfactants on removal efficiency of heavy metals in sewage sludge treated by a novel method combining bio-acidification with Fenton Oxidation. J. Cent. South Univ. 21, 4623-4629. https://doi.org/10.1007/s11771-014-2469-3.
- Reynolds, W.D., Elrick, D.E., 2002. Constant head soil core (Tank) method. In: Dane, J.H. Topp, G.C. (Eds), methods of soil analysis part 4, physical methods, SSSA book series 5, Soil Science Society of America, Madison, Wisconsin, 804-808.
- Schilling, J., Tr□nckner, J., 2020. Estimation of wastewater discharges by means of Open Street Map Data. Water. 12, 628, DOI: 10.3390/w12030628.
- Shifa, N. and Thomas, U., 2017. A study on the effect of surfactants on soil-water system. Int. conference on Geotechniques for infrastructure projects. 27-28 Feb, 2017.
- Shekarchi, M., Yazdian, M., Mehrdadi, N., 2012. Use of biologically treated waste water in concrete. Kuwait J.Sci.Eng. 2B, 97-111.
- Steinkraus, K., 1996. Handbook of indigenous fermented foods. Marcel Dekker Inc, New York, USA.
- Travis. M., Weisbrod, N., Gross, A. 2008. Accumulation of oil and grease in soils irrigated with greywater and their potential role in soil water repellency. Sci. Total Environ. 394: 68-74.

IISU 🌺